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(30%) 1. Explain the following terms
(5%) (1). Ajax
(5%) (2). ASCII
(5%) (3). IoT
(5%) (4). OOP
(5%) (5). VPN
(5%) (6) Unicode

(8%) 2. Identify and correct the invalid Java statements, if any.
(2%) (1). apes = monkeys + gorillas
(2%) (2). tigers=23
(2%) (3). Lions + tigers = cats;
(2%) (4). zebras +=5;

(12%) 3. Describe the machine cycle.

(25%) 4. Write a program that reads in three integers and prints them out in
increasing order (i.e., the smallest first). You can use any high level programming

language to write the program.

(25%) 5. Write a program that computes the product of two numbers. The program
prompts the user to enter two integers, finds their product, and displays the result.

You can use any high level programming language to write the program.




